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How do we derive from the 770, the rule that ‘the mouth that
prohibits is the mouth that permits’; for it says: “I gave my
daughter to this man’, etc.

OVERVIEW

The m1wn states that if a woman declares °IX 7173 N7 WX DWR or °N°2w2
IR 770, she is believed; for we say 7°nAw 7977 X177 7OKRW 17577, "OX 27 teaches
that we derive this rule of 20Xw 1197, from the fact that the father is believed
to say I married off my daughter to this person. Otherwise, if we would not
say "121 "oxw 7977 then why is the father believed that this individual is the
groom. When the father originally stated that he married off his daughter,
she become MoK to all men (for she is already married); on what basis is the
father believed that he married her off to this individual?! The 05 teaches
us the rule of "1 "oxw 797, therefore he is believed to specify to which
individual he married her.

The believability of a 70XY 1197 or 1 (according to Mo0IN) is when the claim
of 7n° was stated immediately and in conjunction with the statement of
Mo°R, without any (significant) interruption between them; otherwise it is not
a valid .

There 1s a difference between the “0XW 71977 of *IX WM N> ¥R DWX, and
11957 °nWwIp; in the former, the N7 NIYY is in conflict with the admission of
mo°x,' while in the latter the 10’ niww is merely specifying and clarifying
the original claim.”

moon will question whether a 17 is actually required in the latter case.

— 11 HNN XYN NTONYI 1N NX PNNY NI AN PRT YRYN
It seems that the father would not be believed to permit his daughter to
remain married to an individual when he initially prohibited her [to be
marries to anyone (by his declaration that she is betrothed)], only on

account of a 1a%; however if there is no 13, once the father stated that his daughter is
betrothed, and did not specify to whom, he will not be subsequently believed that he

!'s3x w3 is not an explanation of >N Wk NWX, it is an addendum.
>11h0% (7PNwTp) is a necessary detail of the P nwTp; there must be a *1175.
3 mooIn uses the terms of 1OXW 797 and 13» interchangeably.
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betrothed her to any individual.* maoIn is assuming this, for since the X3 states that the
father is believed to state that I married her to this man, (only) on account of a “0XY 71577
"oy, this indicates that where there is no "R 71973, the father will not be believed.

mooIn finds this concept difficult:
= FINYVTP 199D 9NN INNY IN NYY 9NN N3 NN SNYTP 9N 1NN NI ONT 11295

And it is incredible to assume that if one came along and stated ‘I
betrothed my daughter’, without specifying to whom, and after a while
or on the morrow, the father would state I betrothed her to ‘him’ -

= 1 NID NOYNIT 1199 )N NI NY
That the father would not be believed since now there is no %! It is almost
impossible to assume this, for many times people may say that I married off my daughter
without being specific, and then if he cannot produce the 7°v17p >7¥, she will be forbidden
to remain with her husband!!’

moon answers and explains:
= DIYNIN 17927 990 1NV DT 123927 PHNY 13929 9DIN)Y

And the >'"= says that in this situation where the father is not

contradicting his initial statement that he married her off to someone; and when

he subsequently says that he married her off to this individual -
= M0 RIDT 23 HY OGN 1199719 DINYNIN 1927 Y9 NHN Na XD

He is only clarifying his initial statement, then he is believed even though

there is no A% (meaning even at a later time); how then do we derive the rule of 7157
1oRY from this P105?! MOOIN answers -
= 19099 YRV YIND NPT 1PN NNV NN NN TYONY NN N2 NN YUIIT NI

But here we derive from the ?105 of "na nX that we implement the rule of
AT 797 R ONY 577 for instance in a case where the man to whom

she was betrothed is standing in the presence of the father -
= NN NTY 99991 1INRY INT YNRWNT PINYI YINRD 5N *N NNX 9INPY

And the father said I gave my daughter to a man, and was silent as to the
identity of his son-in-law, which certainly indicates that he does not

recognize this person who is in his presence as his son-in-law -
= 12)99 PUAN XY 1N NN YWIRD IN NI YNNI N2 NN 9N XY

* If the father would be believed to specify the individual even without a 1» (for instance at a later time),
then how can we derive from here the rule of 21 7oxXw 797.

5 The reason he is believed is since he is initially believed to claim I married her to this man, then this
believability is carried over, even if he specifies the individual at a later time; he is not altering his initial
statement. Or he is believed as an 71X 7, for he is not altering her original 7p1. See X9pn MR QY177 MIDWA.
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For he did not state concurrently, without a lengthy interruption®: ‘I

gave my daughter to him, or to this man’. The fact that he did not do this would

indicate that he did not betroth her to this man, and -
- 1212 NINT 9924 919 T NYN 79 9NN 1IN NN XD 7990

Therefore he should not be believed afterwards to claim that her husband
1s indeed the person who was standing in his presence, unless he made this

claim within the time of a 91357 375, when the law of 1A% applies. We assume
that the 7105 of "\ 7177 WOKY °nN1 °na NX applies (even) to a situation where the husband is
present,® and the only reason the father is believed is on account of the 1 (that he said
717 wRY within a 11277 >75 following °nn1 *na nx);” for if there is no W (if he did not say
717" until after a 7127 *72), then the father would not be believed'’.

mooIn offers an alternate interpretation:
= 19 NDA 11509 NINH INNOL 1IN 9139125 NIINT PNYY 13929 90N NI

And furthermore says the >'"9 that we can maintain that even in the
above mentioned situation (where the groom was standing in the presence
of the father when he made this statement) the father will always be

believed even without a 3% (when he specified the son-in-law at a later time).'' The
question remains, how can we derive the rule of 70Xw 7577 from this P09, when in this
instance there is no need for a "0RWY 11977 in order for the father to be believed?

mooin replies:
= JANI 12T 9NNRD ITPONT JND 123¥ 13N ON) 12\')"1‘1‘,7 NN NP

And we are interpreting an extra p105. And if it has no relevance here in

® See “Thinking it over’ # 1.

" The time of M2°7 73 is the time it takes to say the words '(>1117) *27 9y D', See 2,39 P2

¥ The 109 states 7171 wKY, indicating that the groom is present.

® We derive the rule of 708w 797 from the fact that the father is believed to say nT7 WK, even though,
initially, he hesitated (even though the groom was present) and did not say 77 w°X? immediately, but rather
only after a brief hesitation of 712°7 >72 7I1n; he is nevertheless believed on account of "oxw 71977. The
contradiction caused by the hesitancy (in the presence of the groom) in this case (where he is merely
specifying), equates this case with the usual cases of 70XWw 7977 (121 WA WK NWX) where he renounces the
initial claim. In both instances there is a change in his statement. The N131X1 is only because of 70Xw 715:1.
See 2-Xopn MK o°¥17i7 M1DWA. See ‘Thinking it over’ # 2.

' Even though the father is merely specifying to whom he was wTp» her, nevertheless since there was an
indication (by the slight hesitancy) that he was not w7p» her to this individual; therefore the only way he is
to be believed, is if there is a 1.

' A 1 is not required even in this instance, since the father is merely specifying, and not contradicting, his
initial statement.

"2 The p105 of a 717 W'XY *NN1 °na is extra, for it is not required to teach us that the father is believed to
identify the son-in-law in any event.
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the case of betrothal (that the father is believed to identify the groom) for (in
all cases) even after the time of a 712°7 >70 (when there is no »), the father

is believed -
= NYNNN YW XYY 29 DY N 1IN 1Y ¥H9D 1IN NIPY NN NI1DY

For it is logical that the father should be believed to whom he gave his

daughter to, even though he did not initially specify that individual; and the

reason he is believed is because -
= Y995 ywIin N XYY

He felt no concern to specify; he was merely informing people that he married off
his daughter (there is no indication when he does not mention the groom [even in his

presence], that he is not the groom), so therefore -
$IM32 99247 72 7INA AN NV 1"’1m 9NND NI 1IINT NIIND 123y 17N

Apply the lesson of this P05 concerning 70XY 7197 to a situation where the
person would not be believed at a later time, that nevertheless he will be

believed 71297 57> 730 with a %, The nunxi that the 70 gives the father in the
case of " °na nX, is to be understood, that it teaches us that there is a MInR1 of ORW 7197
51 when it is needed.

SUMMARY

The rule of "0oRW 7197 1s derived from the Pwd of "2 °n2 NXR which is
discussing a case where the 1nm is present and the father is believed to
identify him as the jnr, even if there was a sight hesitation (less than a >73
72°7). Alternately we derive from this 2109 in the manner of 121 11v 1K ON.
Otherwise, when the 0 is not present (or even when he is present), the
father is always believed at any time to specify the jnr.

THINKING IT OVER

1. mpoIn states that if the purported son-in-law was present when the father
stated w°X? °nn1 °na nX (and did not say n17); this is an indication that he is
not the groom, since he did not say "71777" or '7177 w°RY', without a 71217 PDD.‘{'.M

This would indicate that if there was not a 721772 pooi, but rather a small

1 This "1 1719 1K 0K, is a common 7. If we find a P10 that does not teach us anything significant in its
particular case, apply it to other cases, where we will derive a novel concept from this p105. Here too, the
770 indicates that the father is believed; nevertheless here it is obvious, therefore we assume that the 770
wishes to teach us that in other (somewhat similar) cases where a 137 is necessary, they are also believed,
with a 1%,

'* See footnote # 6.
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P05, then there would be no indication that he is not the groom. In this case
no 1 should be necessary. Why does n1901n conclude that 7510 (which is
presumably a small p0577), he is believed (only) on account of a 1n?! There

should be no need for a 1n!"

2. There is a general rule that 7"21n one may retract his testimony entirely.
How can we derive the rule of 70Xw 7197, from the fact that the father may
specify who the jnm is:'® since it is 7", the father can even retract the
entire statement of *n2 NX *Nw7p, without relying on 1», etc.!

15 See x"yn and 25w MR 2",
16 See footnote # 9.
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